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Corrigé de I'exercice 1

Compléter avec un nombre décimal :

1 1
1. 4% — 43 %10+ 6 x 1000 = 6030,04 4. Tx 147 8 x — = 7.807
Pl d X g oo ’ PA T T T T 0T
1 1 1
»2. 1x —+6x 10+ 1 x 100 = 160,1 1 1 _
><10+ X 10+ 1 x >5.4><10+1><100+6><100 600,41
1 6. 2x1+7x10+9 x 100 = 972
3. 2x — +1 7 x 1000 = 7000,021
>3 =X 00T *Tooo T ’

Corrigé de I'exercice 2

Compléter avec un nombre décimal :

1 pu—
1. Sx 104+ 4% — +8x — 80,408 4. 9x14+7x100+8 x 1000 = 28709
10 1000 1 1
1 »5. 5x10+3xﬁ+9x1—0:50,93
2. 1 x104+2x —4+9 = 10,029
R T TR T I R ) )
3. 9 1 9 1 L 5 1000 — 1000.900 »6. 9xﬁ+4x1—0+5x100:500,49
>3 DXt X T TS -
Corrigé de I'exercice 3
Compléter avec un nombre décimal :
1. 3 x 100+ 7 ! 7 ! 300,77 »4. 2 + 5 x 100 + 2 ! 500,202
. X X — X — = . X X X — =
+ 10+ 100 ’ 1000 10 ’
1 1
»2. 7><1+1><r.0+5><10:57,01 >5.4><1000+4><1—0+9><100:4900,4
3. 7x104+1x100041x 100=1170 »6. 2 x1+5x 10044 x 10 = 542
Corrigé de I'exercice 4
Compléter avec un nombre décimal :

1. 7x1+9 L 4+ 6 x 10 = 67,09 4. 6 ! +1 ! 4+ 9 x 1000 = 9000,061
»Ll. X X — x 10 = 67, 4. 6 X — X ——— X = ,
100 100 1000

1
»2. 7x 10+ 1 x 1000 + 2 x = 1070,002 »5. 4x —+9x + 8 x 10 = 80,409

1000 10 1000

»3. 4 x14+9x1000+4 x 100 = 9404 26. 73 14+35%1000+2 x

= 3007,002

1000

Corrigé de I'exercice 5

Compléter avec un nombre décimal :

= 1
»1. 2 x100+6 x 10+ 7 x 1000 = 7260 oA, 4><1—|—7><1000+2><m:7004,02

1 1 1
>2. TX 1053 % Tooo T3 % 1= 9373 »5. 4 x 1+8x 1000+ 3 x 100 = 8304
1 1 1
S1x1 — — =1 »6. 8 x —+7 x 100+ 2 x 1000 = 2700,08
>3, 1x 10+ 7% 70549 % 7= 1007 100
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